PROFESSIONAL
PR EXAMINATION BOARD
Pb@’é%ﬁ”&”““"” Middle School Teacher
Eligibility Test - 2018
6th Mar 2019 2:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) Comorbid means: / BIHISS (FESWIAT) PT 3 B:

1. Tt describes a disorder or condition that may co-occur with another disorder or condition. / Ug Uh faprR

1 fRUY 1 9uf e g o fopelt 3/ fdepR a1 fRUf & 1Y g) Fehel 2|

2. A condition can appear independently and have a detrimental effect on performance. / aﬁ's‘ fufaq wd=

FT Y UHhe gl Gohdl § 3R YR R gIHeRS THd STd Jhd! ¢ |
3. A cognitive impairment can shorten lifespan. / I TH® BT SlfaaTd B DIl R Jahdl %I
4, None of these. / ET'FET q aﬂé '_ﬁofl

Correct Answer :-

o It describes a disorder or condition that may co-occur with another disorder or condition. / g Udh faprR

7 fYFS 79Ul BT 8 Sl fopdlt 8 fapr a1 fRUfa & Ty g Ipar g

2) What is the second leading cause of death in adolescence? / fo=IRTaRIT & HG BT g UHY
PRI T 52

1. Road traffic accidents / S IdTUTd W
2. Suicide / STHG T

3. Psychosis /ﬁﬁ?ﬁf
4. Drug overdose / ST ARSI

Correct Answer :-

o Suicide / ATHgdl

3) UDL stands for

./ Rea s fagaEu__ Rl
1. Universal Developed Learning /qﬁaﬁﬂm A

. . . o (od o d
2. Universal Dynamic Learning / ["1dH T STUHD SIBE

3. Universal Design for Learning / W SIS R A1




4. Universal Disadvantages of Learning / q\ﬁq{-f d fewedics s af

Correct Answer :-

» Universal Design for Learning / %ﬁd%lr A %\ﬂl‘éd PR AT

4) The meaning of gestaltis ./ NeeTee 31 3 - ﬁ?ﬂ %I
1. Excitement / SIS

2. An integrated whole / WQWUT

3. Perception / YR

4. Insight / Gﬂé@

Correct Answer :-

» An integrated whole / ?I'Q;Uf Qﬁw

5) According to Piaget’s theory of cognitive development, complex thoughts form during the

. e & SeATere [erare Rigid & oguR, sfea fiaR % dRM ema B
1. Pre-operational stage /Uﬁ-ﬁw ST

2. Concrete Operational stage /Hﬁﬂﬁmm AT

3. Formal Operations stage / Gﬁﬁmm SART

4. Sensory Motor stage /Hé'c?riﬂaaw

Correct Answer :-

e Formal Operations stage / ST Tforar it

6) According to Kohlberg’s theory, at what level does the child adopt rules? / aﬁw CATFAGK-J

YR, T fhy TR R fAa & iR g2

1. Universal ethical principle orientation / e Afae Rigid d'ﬂ,@lnldNUI

2. Post-conventional level / UY-URWNS TR
3. Pre-conventional level / Qﬁ-tﬂw T}
4, Conventional level / URARS &R

Correct Answer :-

« Conventional level / TRVIR® &R

7) According to Urie Bronfenbrenner system is the small immediate environment the child

%vesin./q&aﬁqam%aw, JOITel 98 BieT ST~ aararvl § foras a1 gar
|



1. Macrosystem / Ao IRey
2. Exosystem / Q?’@W

3. Microsystem / ATSShIFCH
4. Mesosystem / THIRCH

Correct Answer :-

e Microsystem / IS ehIRReH

8) What is used to determine eating disorders? / T & iR o fAuiRa s & fre & T
far ST 82

1. Weight index / 4R JThich
2. Weight mass index / HR gdHIq W

3. Body mass index / R IR A N EEdED

4. Body height index / TRR $aTs BGEAED

Correct Answer :-

« Body mass index / ¥ IR T {j\tlobicb

9) What term best describes a child’s difficulty in learning a new way to do a task he has already

learnt? / 98 US Sl U T= &1 TP T AT R A 31 aTelt HISTS BT Had 33T guiq
FRal 8, 9l 39 Uga 9 g A@rgen @2

1. Proactive interference / gfohd Eﬁéﬂf{

2. Retroactive interference / qﬁwﬁr gw|ay
3. Cue-related interference / Gbd-Taerd Wa'q

4. Semantic interference / Wﬁ E'Wfa'q

Correct Answer :-
« Proactive interference / Gfchd E,'E&}C[

10) What task did Piaget give children to understand their hypothetical-deductive reasoning? /

forarst = 9= Bt I Breufren- FRTHATHS 0 B THeM & o war o faar
1. Pendulum experiment / ﬁg?«n:r DT AT

2. Bobo doll experiment / CIC] 1;L'%TIT Eak*pinl

3. Visual cliff experiment / €Y dglq TN

4. Shadow experiment / STT TR

Correct Answer :-



« Pendulum experiment / elw BT TN

11) What does the theory of learning by Insight mean? / Gﬁﬁ (g191g9) & HTAH A A &

Rrgia o1 ardf Far 82

1. Learning which requires higher order mental processes like thinking, reasoning and intelligence. / SHfeRTH

¥ o foarR, ad iR gfgam okt 3= Sitre ARies ufsransii &) smaxgearl gidl 8|

2. Learning by trial and error where problem solving is characterized by repeated, varied attempts which are
continued until success. / AT 3R Ffe GRT TATH FH=1 Sg! T &1 fafia T gRT SR-aR g
HT U [IRIVT 5, STifch Toherdl aob oIk} Gl 6 |

3. Learning that occurs by observing the demonstrations given by an expert and imitating his movements. /

31T S Ueb faRio gRT fow T el 1 3 3R Ioh TER I bl Thel bR 4 BIell B

4. A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships
of various parts of a problem and understanding the situation. / T YR o HTTH IT THIT B g
HT S Tt T & fafie fowedi o Haell ol wre iR 39 T &1 gHeM & H1em 9 S
gl |

Correct Answer :-

» A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships
of various parts of a problem and understanding the situation. / Ydb YhX & SHTEATH 1 99T B 8
BT S Tl Taen & fafire foedl & Heiell ol wre iR 34 Rl &) gHe & e 9 s
G

12) Name the disorder that causes lack of attention. / 39 fad®R &1 AW EGILY S ST Bt B BT
R g1 82

1. Dyslexia / JIHABR (W'%HTIT)
2. Dyscalculia / %@Wg"—m

3. Dysgraphia / feauftear

4. ADD/ADHD / TSIS! /TSIT=rst

Correct Answer :-

« ADD/ADHD/ Qg|g| /Qélqaé

13) Which model, proposed by Albert Bandura, explains human functioning and personality as
caused by the interaction of the behavioral, cognitive and environmental factors / 3T TG GRT
TRATAd DI A1 ATSd HAER, IS 3R Taiavoiig SRST & WRER a1 & YR W AT
ST 3R AfHRTE P ARSI HXaT 32

1. Self-efficacy / STH-THTGHTRT
2. Reciprocal determinism / IR fFafaarg
3. Trait theory / Hfddd Rigid



4, Sublimation / 3 AUTdh

Correct Answer :-

» Reciprocal determinism / IRR® fAafddrg

14) Which of the following promotes the recurrence of a behavior? / Fafafeadd s U

AR B! TR ) 9¢1a1 T 32
1. Reinforcement / Q:WSYT“I_"[

2. Latency / YUl
3. Chunking / T

4, Punishment / G

Correct Answer :-

» Reinforcement / W:[

15) Which of the following theories focuses on processes involved in perceiving and handling

information?/mﬁﬁﬁﬁmmmﬁﬁm ﬁm\ﬂﬂwmmﬁ
i ufspareli R Siga 82

1. Information-processing approach / W—W SUNTH
2. Social-contextual approach / HMHTTh-H T SURTH
3. Socio-cognitive approach / QTS TS STNTH

4. Psycho-sexual approach / TARe SUTTH

Correct Answer :-
 Information-processing approach / WT-U@'TCITWUT SUNTH

16) Which of the following is one of the components of ideal mental health according to Jahoda? /

fFrafafea & & o9 TEiel & AR el AFRIS Wed & 9e@] 8§ 3 U9 82
1. Dependence / fFRaT

2. Separation from society / THIST I 3¢ GIHT

3. Freedom / Tl

4. Positive attitude towards oneself / T & Ufd GBRIED SPBI

Correct Answer :-

« Positive attitude towards oneself / T8 & Ufd IHRIHD m



Which of the following statements best describes the Zone of Proximal Development? / frafafead

A D T HYT THUN AP & &F BT I 33T i HIdT 22

1. The difference between what a learner can do without help and what she or he can achieve with guidance.

/ U Rrenfife=T ggradt & o1 HR Ihdl/Tdhd! § 3R ARGRH & IIY-T1Y a8 T gIRIS B Jobdl/
gt 8, TP oF BT 3R

2. Academic, Knowledge based tests gauge the intelligence. / PTG H, T STUTRT TRIeon o §@Iﬁﬂ
&1 Udl Il 5 |

3. The child develops the required skills on his/her own. / ST 30 GH TR 3{TIRID HIVA [AH A BTl

g

4. Discover everything on own. / ¢ $& U RIS

Correct Answer :-

« The difference between what a learner can do without help and what she or he can achieve with
guidance. / T FR&miffemT Teradr & o1 R THdyTH«l § 3R AN & IIY-T1Y 98 1 eI
PR Ihd/Ihdl &, TP d1F BT 3R

18) Which of the Thorndike’s laws emphasize preparedness? / %ﬂm BT PI-91 fAgw darial
W SR a1 8?

1. Law of Exercise / 3% &1 g9
2. Law of Effect / UHTG &1 FaH
3. Law of Multiple Response / §g WidehaT o1 fHTH

4. Law of Readiness / d@Rdl &I MIH

Correct Answer :-

« Law of Readiness / IRl &1 99

19) In scientific investigative learning method, ./ aﬁTﬁﬁ? \?rlﬁ'\‘:l' UTHTHD SATERTH Ui ﬁ,

1. children discover the scientific idea completely. / CEICAEEIRCACEIR 11'\9[ e T gd1 Ioid B
2. children work without guidance. / = qRTGRA & {91 &1 HRd %I

3. teacher guides the children completely. / e s=al &1 URITHI e HRaT g

4. teacher gives inputs when needed. / fRrefen S L{(_S:I U 31Yc gl

Correct Answer :-

« teacher gives inputs when needed. / fRrefen S L{(_S:I U 31Yc gl

20) A child is watched carefully by his teachers because his friends are known to cause trouble, even
though the child has never done anything wrong. Which of the following is descriptive of this? / T



T PI I R gRT = A W7 SIdT & TP SHP Sl B URRATHT BT HBIROT ST SITaT
2, a8 7= A 3t po Taa 81 a8 Fufafee # Q o919 a1 59T aufares 82

1. Algorithm / QQ_"’“IQ?—IT[

2. Transductive reasoning / URITH GE2

3. Representativeness heuristic / 3{ TG %W (Wlﬂﬂ-lﬁﬁ)
4. Anchoring heuristic / JHdY %ﬂh‘% @Huﬁﬁ)

Correct Answer :-

« Representativeness heuristic / 3{ e %W (Wlﬂﬂ-lﬁﬁ)
21) Who are backward children? / ﬁ@@j/ dfea ﬁﬂ'ﬁ:{%’?
1. Slow learners / HG SifrTHedl

2. Delinquent learners / [dc&for STl

3. Handicapped learners / feaam siftrmaear

4. Exceptional learners / STHTYRTT HfF e df

Correct Answer :-

o Slow learners / HG SiferTaRdl

22) The last stage of creative thinking is : | TEATH® Fia- &1 3ifad TRor %:
1. Incubation / HHIIA

2. Verification / JdTU

3. Preparation / SRIR]

4. Evaluation / JeTh

Correct Answer :-

» Verification / JATYq

23) The Dalton Plan was created by: / STeTH I aRT m 11'5‘ A:
1. John Dewey / Gﬁ?ﬁg

2. Francis Galton / Wi fieed

3. Francis Dalton / PIRIY STeeH

4, Helen Parkhurst / %?F‘T W

Correct Answer :-



e Helen Parkhurst / %@I:f W

24) A student should be allowed to learn in the mother tongue as it makes easy. / Th BT G|

AgUTT & W # srqufa o o sifeag . @) s SATaT 81
1. Comprehension / S1¢f

2. Perception / Hag

3. Creation / XTI AT ¥

4. Reproduction / Yol

Correct Answer :-
o Comprehension / Y

25) More Knowledgeable Others and Zone of Proximal Development are the main principles of

theories on cognitive development. / e TP RY iR Tiiuwy fae g & ?33[
UMD faerE W fsial & g1 Rigia 71
1. Kolb’s / Plesl
2. Piaget’s / BRI
3. Dewey’s / 34

4, Vygotsky’s / CIEIRS]

Correct Answer :-

o Vygotsky’s / aTi"'n—m"ﬂ'ﬁ

26) A large number of schools do not have a provision for teacher in the school. / SiftreiwT

Wwald_ s sruau T gl
1. Extra / 3ffaRad

2. Special / fafRry

3. Co- class / Tg-fRuafm

4. Assistant / dgldd

Correct Answer :-

e Special /ﬁﬁ]’g

27) are the basic needs according to Malow’s Hierarchy of needs. /

AT & URUN & UGIHH D1 MaaHdl F AFHR A sRewd gl
1. Safety and Esteem /ﬁ?&ﬂ@?&ﬂﬂﬂ




2. Physiological and self-actualization / YRING 3R TH-AY

3. Belongingness and love needs / Iy 3R WR &Y STagHdl

4. Physiological and safety needs / JRIR® 3R GR&M P ATl

Correct Answer :-

« Physiological and safety needs / TTRIR® 3R YRE&T B aRTHAT

28) Which of the following can a teacher not exercise to overcome misconceptions? / Th

R8P TAd AAYRINSA I g PR & o 390 I fHadT gagR Tl B Jpar?
1. Immediate feedback assessment approach / deb el gfafear ELFCIW %’@EI);TUT
2. Self-directed learning / 3{TH fAeq § dian

3. Quiz style assessment both before and after a unit / T ng I tl%@f 3R dlg T U QAeit o1
H™ib

4. Flipped classroom approach / IPSEEZ I EEIL

Correct Answer :-

« Self-directed learning / 3T& FAGRH & WRg1

29) Which of the following theories is also known as modelling learning theory? /

fFufafaa o A f5a Rigia o ufesguiais s Rigia & = & ff S irar 82
1. Developmental theory / fd&TTES (Saciudcd) iR Rigid

2. Social learning theory / TTHTISID TETH Rygid

3. Transformative learning theory / ZIAhIRATCT fETH Rigid

4. Insight learning theory / 3fAEM¥ (394Tge) 3iftmH Rigia

Correct Answer :-

« Social learning theory/ﬂ'lﬂ'lm 3T Rigid

30) Thinking most importantly involves: / o< & Ta® Agcyul dR I F1 ARG a1 8 ?
1. Aptitude / AT

2. Memory/@{ﬁf

3. Reasoning / LC3
4. Attitude / 3TYgFRT

Correct Answer :-

o Reasoning / LC3



Topic:- General English(L1GE)

1) Read the passage carefully and answer the question that follows:

Once coming back from his field after a hard day’s work Ram Chandra of Narayanpur witnessed a
very unusual sight in the open field near the horizon. He was suddenly dumbstruck as he thought
that he saw an exceptionally bright light coming from the western sky as if suddenly a
constellation of stars had descended on earth, or millions of bulbs were shinning in the sky. As he
went nearer he was quite scared for he felt that there appeared to be a great ship standing in the
middle of a field which seemed to give out super sonic signals. Ram Chandra looked at the ship
for a while but was extremely frightened by that strange unidentified object. He got back on his
cycle and rode fast towards his home from a different direction almost falling off the bike. When
he reached home he was totally tongue tied to even narrate that incident to his wife. He lay on
bed thinking about the object that he had seen wondering whether he had only dreamt about the
whole affair.

Ram Chandra of Narayanpur witnessed a very unusual sight near which place?
1. Home

2. Fields

3. Constellation

4, Horizon

Correct Answer :-

e Horizon

2) Read the passage carefully and answer the question that follows:

Once coming back from his field after a hard day’s work Ram Chandra of Narayanpur witnessed a
very unusual sight in the open field near the horizon. He was suddenly dumbstruck as he thought
that he saw an exceptionally bright light coming from the western sky as if suddenly a
constellation of stars had descended on earth, or millions of bulbs were shinning in the sky. As he
went nearer he was quite scared for he felt that there appeared to be a great ship standing in the
middle of a field which seemed to give out super sonic signals. Ram Chandra looked at the ship
for a while but was extremely frightened by that strange unidentified object. He got back on his
cycle and rode fast towards his home from a different direction almost falling off the bike. When
he reached home he was totally tongue tied to even narrate that incident to his wife. He lay on
bed thinking about the object that he had seen wondering whether he had only dreamt about the
whole affair.

What did Ram Chandra think while lying on his bed?
1. Whether he had dreamt about the whole affair

2. Whether he saw the ship or not



3. Whether he should tell his wife about it or not

4. Whether he should tell others about it or not

Correct Answer :-

e Whether he had dreamt about the whole affair

3) Read the passage carefully and answer the question that follows:

Once coming back from his field after a hard day’s work Ram Chandra of Narayanpur witnessed a
very unusual sight in the open field near the horizon. He was suddenly dumbstruck as he thought
that he saw an exceptionally bright light coming from the western sky as if suddenly a
constellation of stars had descended on earth, or millions of bulbs were shinning in the sky. As he
went nearer he was quite scared for he felt that there appeared to be a great ship standing in the
middle of a field which seemed to give out super sonic signals. Ram Chandra looked at the ship
for a while but was extremely frightened by that strange unidentified object. He got back on his
cycle and rode fast towards his home from a different direction almost falling off the bike. When
he reached home he was totally tongue tied to even narrate that incident to his wife. He lay on
bed thinking about the object that he had seen wondering whether he had only dreamt about the
whole affair.

The meaning of the word Horizon is:
1. Towards home

2. Towards Fields

3. Where the Sky meets the earth

4. Where the Sun meets the earth

Correct Answer :-

» Where the Sky meets the earth

4) Read the passage carefully and answer the question that follows:

Once coming back from his field after a hard day’s work Ram Chandra of Narayanpur witnessed
a very unusual sight in the open field near the horizon. He was suddenly dumbstruck as he
thought that he saw an exceptionally bright light coming from the western sky as if suddenly a
constellation of stars had descended on earth, or millions of bulbs were shinning in the sky. As he
went nearer he was quite scared for he felt that there appeared to be a great ship standing in the
middle of a field which seemed to give out super sonic signals. Ram Chandra looked at the ship
for a while but was extremely frightened by that strange unidentified object. He got back on his
cycle and rode fast towards his home from a different direction almost falling off the bike. When
he reached home he was totally tongue tied to even narrate that incident to his wife. He lay on
bed thinking about the object that he had seen wondering whether he had only dreamt about the
whole affair.



What did Ram Chandra see when he went near the bright lights?
1. Fields

2. A constellation

3. Ship

4, Horizon

Correct Answer :-

5) Choose the sentence that best combines the given sentences.

Elizabeth is an athletic woman. Elizabeth cannot swim or ride a bike.
1. Although Elizabeth is an athletic woman, she cannot swim or ride a bike.
2. Elizabeth cannot swim or ride a bike, while she is an athletic woman.

3. Elizabeth cannot swim or ride a bike and is an athletic woman.

4. Being an athletic woman, Elizabeth cannot swim or ride a bike.

Correct Answer :-
» Although Elizabeth is an athletic woman, she cannot swim or ride a bike.

6) Choose appropriate articles for the given sentence:

_ boykicked __ balloutof ___ football field.
1. No article required, a, a

2. A, the, an

3. A, the, no article required

4. The, the, the

Correct Answer :-
e The, the, the

7) Choose the appropriate option that rewrites the given sentence in its active voice.
At 2pm the final bell to end the examination was rung.
1. To end the examination the final bell was ringing at 2pm.

2. At 2 pm, the examination bell was rang to end it.



3. The examination final bell had been rung at 2pm.

4. The final bell to end the examination rang at 2pm.

Correct Answer :-
o The final bell to end the examination rang at 2pm.

8) Choose the appropriate option to convert the given sentence from direct speech to indirect
speech.

The Principal said, "These books have to be piled up in an order in the library.”
1. The Principal instructed that those books had to be piled up in order in the library.
2. The Principal said the books have to be piled up in an order in the library.

3. The Principal said that these books have to be piled up in an order in the library.

4. The Principal told the books have to be piled up in an order in the library.

Correct Answer :-
e The Principal instructed that those books had to be piled up in order in the library.

9) Choose the appropriate tenses to fill in the blanks in the given sentence :

you that Amith to join in the famous University in the United
States?

1. Were, knowing, had going
2. Are, know, was going
3. Did, know, is going

4. Had, known, had gone

Correct Answer :-
¢ Did, know, is going

10) Choose the appropriate tense to fill in the blank in the given sentence:

I the movie Lagaan when he called last night.

1. will be watching
2. was watching

3. watch



4, am watching

Correct Answer :-
« was watching

11) Choose the appropriate antonym for the highlighted word in the given sentence.

The little boy used to eat continuously and had become so corpulent that new clothes had to be
purchased for him every month.

1. Stout
2. Miniscule
3. Rotund

4. Scrawny

Correct Answer :-
e Scrawny

12) Choose the appropriate conjunction for the given sentence.

We were planning to go to Italy , we ended up going to Switzerland.
1. instead

2. because

3. otherwise

4, since

Correct Answer :-

e instead

13) Choose the appropriate synonym for the highlighted word in the given sentence.
Prof. Kumar has a distinct English accent.

1. Indiscreet

2. Vague

3. Subtle

4. Noticeable

Correct Answer :-



* Noticeable

14) Choose the appropriate prepositions for the given sentence:

The little girlran ___ the busy road, to prevent a puppy __ being crushed ____ a car.
1. from, into, for

2. across, for, into

3. across, from, under

4. through, for, into

Correct Answer :-
e across, from, under

15) Choose an appropriate modal for the given sentence:

If you experience any breathing problem, you visit a doctor.
1. would

2. must

3. will

4, can

Correct Answer :-

e must

16) Choose an appropriate determiner for the given sentence.

knowledge is a dangerous thing.
1. Alittle
2. Few
3. Much

4. Many

Correct Answer :-

o Alittle



17) Choose the option that best explains the highlighted expression:

The servants were hand in glove with the murderers when the crime took place.
1. to use a glove in

2. to act in accordance with

3. to be involved in

4. to be controlled by

Correct Answer :-
e to be involved in

18) Choose the most suitable pronouns for the given sentence:

____cheeksarered,and _____ sweating. Are ___ nervous?
1. Their ... you ... they

2. My ...I'm ...you

3. Hers ... she’s ... they

4. Your ... you're ... you

Correct Answer :-
e Your ...you’re ... you

19) Read the sentence carefully and choose the option that has an error in it:

Although she was sick, but she attended the classes.
1. Although she was sick,

2. but she attended

3. No error

4, the classes.

Correct Answer :-

¢ but she attended

20) Read the passage carefully and answer the question that follows:



Unemployment, poverty and inequality are related phenomena. Any success in solving one of these problems
would imply some success in solving the other. '"Poverty and unemployment are two sides of the same coin when
we are going to solve one problem in the society, second will be taken care with that. The poverty and
unemployment at present scenario are most severe problems of Indian economy’. The term unemployment has
assumed a place of importance in economic literature ever since the Great Depression of 1930's when the
unemployment had virtually posed serious threat to the highly developed countries.

According to the passage, where was unemployment a major problem during the Great Depression?
1. Developing countries

2. Underdeveloped countries

3. Highly developed countries

4. Over populated countries

Correct Answer :-
» Highly developed countries

21) Read the passage carefully and answer the question that follows:

Unemployment, poverty and inequality are related phenomena. Any success in solving one of these problems
would imply some success in solving the other. "Poverty and unemployment are two sides of the same coin when
we are going to solve one problem in the society, second will be taken care with that. The poverty and
unemployment at present scenario are most severe problems of Indian economy’. The term unemployment has
assumed a place of importance in economic literature ever since the Great Depression of 1930's when the
unemployment had virtually posed serious threat to the highly developed countries.

Which are the prime concerns faced by Indian economy?
1. Inequality and discrimination

2. Inflation and unemployment

3. Corruption and demonetisation

4. Unemployment and poverty

Correct Answer :-

» Unemployment and poverty

22) Read the passage carefully and answer the question that follows:

Unemployment, poverty and inequality are related phenomena. Any success in solving one of these problems
would imply some success in solving the other. '"Poverty and unemployment are two sides of the same coin when
we are going to solve one problem in the society, second will be taken care with that. The poverty and
unemployment at present scenario are most severe problems of Indian economy’. The term unemployment has



assumed a place of importance in economic literature ever since the Great Depression of 1930's when the
unemployment had virtually posed serious threat to the highly developed countries.

What does the usage ‘two sides of the same coin’ imply?
1. The problems are deceptive

2. The problems are insignificant

3. The problems are allied

4. The problems are distinct

Correct Answer :-
o The problems are allied

23) Read the passage carefully and answer the question that follows:

Unemployment, poverty and inequality are related phenomena. Any success in solving one of these problems
would imply some success in solving the other. '"Poverty and unemployment are two sides of the same coin when
we are going to solve one problem in the society, second will be taken care with that. The poverty and
unemployment at present scenario are most severe problems of Indian economy”. The term unemployment has
assumed a place of importance in economic literature ever since the Great Depression of 1930's when the
unemployment had virtually posed serious threat to the highly developed countries.

According to the passage, which of the following options is true?

1. Solving problems of unemployment will solve the problems of poverty and inequality
2. Solving the problems of unemployment, poverty, and inequality is an impossible task
3. The problems of unemployment, poverty, and inequality are irreconcilable issues

4. The problems of unemployment, poverty, and inequality are disparate ones

Correct Answer :-

» Solving problems of unemployment will solve the problems of poverty and inequality

24) Choose the right tag:

After all this time you'd think he’d had forgotten, ?

1. don’t you
2. wouldn’t you
3. doyou

4. would you



Correct Answer :-
* wouldn’t you

25) Choose the correct option to fill in the blank in the given sentence:

While travelling on an airplane, you may keep you hand baggage in the --head cabin.
1. over--

2. up--

3. sub--

4, under--

Correct Answer :-

26) Fill in the blank with the correct option in the given sentence:
He tried very hard to win the race but things got beyond his endur

1. ---sion

2. ---ation

3. -—-ence

4, ---ance

Correct Answer :-

27) Fillin the blank with the correct option in the given sentence:

My little sister _ the ticket before we went to the cinema.
1. has been given

2. is given

3. will be given

4. had been given

Correct Answer :-

» had been given



28) Choose the option that substitutes the given phrase appropriately.

The place where farmers store their surplus grain
1. Granary

2. Room

3. Bamn

4. Enclosure

Correct Answer :-
e QGranary

29) Choose the right tag:

There is a crowd at the gate, ?
l.is it

2.isn't there

3. is there

4, does it

Correct Answer :-

e isn't there

30) Choose an appropriate article for the given sentence:

Nileis_____ longest river of all.
1. an

2. no article

3.a

4. the

Correct Answer :-

Topic:- General Hindi(L2GH)

1)



‘F’ FY Alel & §1g 31T A1 Ja§ I NH? SRATR ¢ 5T AT % TWH B avg FHR | g9, AIgaaT’ i
AT G MU YTt H SipT, Al G Yav1P Fi Yrail # Fvs WIH & gaa o1 I1g 31 T35 | I8 YaRTP Y
B siws At Sid YaRTY A TSI §T YD, "Bl § WIH? 31 JeT g Faol & T G|~ R 5F Wi\ 71 gaan
IAP! UHS T 311 74T, A ITIA WIUI-UTdl AT A IA Ths R W-IR B STAT| TH Hids TR g 3T (U
Tad Y 3haR A 3 3 §, 9 e TS @4 §1 P A 71 § T far? w1 SR g9 aled? T A @
ferar? g=firer 761 A7 o= gaen 81 3 faam ) gaen safie sae yenalf # Wy fear i g3 arqw u o &
YTy & e 381 § | ot 3a &t ve i 3 aaran i & Sruei SRTe 3man 8 SR T & |1y de @] e
B g)-d17 " R fHaT Fear 8T 39 AT & 915 W9 98 Ja¥ T @, ot A7 IRR A 301 79 +1
Uy faeT faan ok g, et g Su@! arel # 81s € a1 & 3R P gid, df 3§ HIgH ghal
& 9% ATTE B HoAS A RUSTY §T 71 T BT YARTY 99 AT B, A YAl g1 R g1 AMgC

ITYe TN B! USHR AR U T ¥Y BT IR T4133:
UH- & 3R T P ATHRAVS BT T 82

1. IH

2. fopamue

3. fa=imor

4, -H

Correct Answer :-

2) ‘& $3 Al & 91¢ MY A1 Jag I N IRGaR 3 8T AT 7% T &) avg R # g9, argaa
DI AT G AU Yo & Spel, O G YavTy Fi Yorreif # wvs i & Ao $1 I1g 31 T3 1 I§ YR
31 g FTws dt1 SiT YARTY 7 TSIed §U YBT, "Bl § WIH? 1 IT g Fae W F1” SR 5 F i\ 1
qadT APt Udhs H 31T 74T, @ ITIA UIU-UTel T A I s HY R-JR B STaTl TH Tih UR 59 AR
3 Yad oI SfpaR A T 3 €, 89 T TS ¥8d 31 P T w1 7 T Fer? a1 39A g Gfes? T/
o forar? gt 1Y | AR sroeT garen €t 39 feam| gaen safe Swet yeet & Wv faar 6 g arem ur
6 & yavry @ e w51 5| ot Ta @1 v e A aaman i & Sroeit wRRTe 3ma @ iR T & 61y 959
M P QY- U R el Ha1 811 39 A1 & q1¢ o9 98 [a Td o, ot §9 IR | 3 74 H1
Uy faeT faan ik g, Fleht 3z Su@! arel # |Ys € U1 & 3R P g4, dl 3/ HIgH ghal
& a5 ANTE B FAS A RIS §U F 1 T BT YARTY 9 AT B, A Yaelm g1 R g1 AT

ST TR F UgH - U T ¥y P I<R Ja133:
UH- a9s ‘& | {5 e | W frem?

1. FegTaT

2. 3=l

3. HHTET

1

Correct Answer :-

3) ‘& B3 Al & 91g Y A1 Jag§ a1 TP 3RATR ¢ T U1 fr T 91 g R | g9, Hga-’
DI AT G AU Yorra & Spel, A G YarTy Fi Yorraif # wvg Wi & gad $1 I1g 31 T3 | I§ YRTY
1 g1 S A1 ST YaRTY A Thad 5T YD, "Fel ¢ HH? 31 de1 g Heel A o 17 3R oG i\



qadr AP Udhs U 31T 74T, @ I UU-UTel T A I s HY R-IR B STaTl TH Tih WR 59 TR
3 Yad B SpaR A T 3 €, 87 3T TS ¥8d 31 P’ T w1 § T Fer? a1 399 g Gfes? A |
o forar? gt 1Y | AR sraeT garen €t S feam| gaen saf Swet yeelt & v faar 6 g arem ur
& & yav1y A e w81 5| ool 1d 91 v i = qann % & sruit agRTer man 8 ofR T & 1Y deaw
W P QY- U TR el Ha1 811 39 A1 & 91¢ o9 98 Fa Td o, ot §9 IR | 304 74 H1
Uy faeT faan ik g, Fleht g Su@! arel # 8Ys € a1 & 3R B g4, dl 3/ HIgH ghal
& a5 ATE B FAS A RUSTY §T 71 T BT YARTY oG AT B, A Yol g1 R g1 AT

ST TR $ UgH - U T Uy P I<R JaT33:
- ‘Sl g | T ATy g2

1. gICN-Udall 48

2. SR ¢8

3. WiH® 68

4. PRAIYRTE

Correct Answer :-

. DRIV WRIE

4) P g Alg-l & 91¢ MY V| Yag I PR JWIR @ 7T YT fh T 3 aRg v A G, -AgaarT
Dt e G MU Yeraii d ShsT, awmﬁwﬁﬁmmﬂ%gﬂﬁﬁmwnﬁlﬁmaﬁ
B Siws A1 Sid ATy A TSIed §¢ YD, “Pel 8 A2 31 deT g9 Farel § @ 17 3R oF WiH T gaen
ITP! Uhs H AT 74T, @ ITIA WV BT | IN TS Y R-YX B STl T Hir W §H SRR 37
Tad B SPaR A ¢ Id &, 50 T TS ¥Ed B | @ A 7 T frar a7 Su9A g5 qied a | @ forane
avl?ﬁﬁré’nﬁﬁmmﬁaﬁﬁmlwwﬁmmw&ﬁﬁﬁq%m%gﬁwmﬁ?ﬁm
¥ fra a1 § | FUrad W &) v s A 9o {6 <& St TRERTe Sman 8 SR T & 1Y S8 H) /M B gl
i He g foigT BT 8T 59 R $ 91 STd 98 Fa¥ T o, o 77 TR @ 30 94 o) guam fager
faar 3k e, Fleh 3 ST a8l & Bis & UTTT & 3R Fie 14, df S/ WIGH gaT % a8 ANTE- B
Hool ¥ RIUSTE 5T ¢ 1 B0 PT YaRTY 519 SR D, 1 gael 81 31 91 a1 ¢

S TR B UG -9 U T Uy BT ITR gaT33:
UTH- AE A f6H SR & B gaT Yavg a2
1. TTULHe EE fd@m & BRul

2. F3 Alg a1g feH & SR

3. TTAIq 1 T & b BRI

4. 16 ORI & BRI

Correct Answer :-

. JIU-gTeh W8 fo@™ & sRul

5) ‘@ H3 Al & I 3T A1 Ja§ I WP IRGTR W 7T AT {6 TP $t a¥g L § g, “Argaar
Dt e g U Yeraii d ThsT, aig@qa?rgaﬁwaﬁﬁmwﬂw%ga@rﬁmennélagwaﬂ
& Sws A1 oid YavTy A TSIad §¢ YD, “Fel 8 W2 31 9e1 g9 Ferel ¥ @ 17 3R 99 Wi\ T gaen
IAP! UHs T 31 T, O I WIUL-ETd W A IA TPhs B R-X B STaTl WY NP W §H TR 30
Jdd &) SPaR A2 3 ¢, TH AT TS @A 8 | @ J 71 & 7t e o oA g Ahed Ta | @ foran?
TS 71 A v gaan &) S | gaan swferg SHet yensit & Hiv faan {6 g9t wrqw o1 % & yavp



¥ et @1 g | Fasett 3ra &t v o A 9aran {6 <& Sra=t |RTe 3T 3 3R 1 & HIY SSH TH &I GI-
T e grert fHigT FaT Y811 9 Y1 & 91 919 a8 Hav Td 0, dt 89 IR A U 1 $ guary et
faar ik e, Fleht 3 Sua! a8l & Bis & UTaT & 3R FIe B14, dl S/ WIgH gar f% ag ArTH-t &Y
Fa 9§ RIUSTE §U 7 1 B $T YaRTY 99 SATRIH B, A gaalT g1 3H I a1 e

IUYaR TR Y USHR 1 UD T Uy o1 I<R Jarsd:
UH- U & qer 3R HISaa o1 ¢RIl 82

1. 91

2. et

3. gufa

4. 59

Correct Answer :-

6) ‘B B3 AfgHl P T1g AT A1 Jag I NH IR W 8T 4T {6 T B1 avg $WR A g9, qigaa
aﬁmg@emﬂﬁm&ﬁﬁm,a‘rg?}mgaﬂHmaﬁﬁmmn%gaﬁiﬂmsnns‘l qE YaRTY B
B Ses A1 Sid YavTy A TSied §¢ YD, “Pel 8 HiH? 31 9T g Harel ¥ @ 17 3R oF WiH 1 gaen
ITP! Uhs H AT 74T, df ITIA UV BT | IH TP Y R-gX B STATl T Hidp W g SRR 30
Tad B SPaR A ¢ Id &, 5U T TS ¥8d 8 1 @ A 7 F T frar a7 S g3 qied: a | @ forane
TR 71 A SrueT gara & S faam | gaan swafeng Iuet yeeit & Hiv faar {6 gt arqw o1 % & yavip
¥ e a1 § | FUrad 3a &) v B A 9o {6 < St TR St @ SR T & 1Y S8 H) /M B gl
i 5 grert foigT var 38T 39 AT F 916 919 98 AR T @, @ 37 TR R o 99 ) gua et
faa ok A, el Ag @ a6l # Bs G UITT & 3R BIe §19, a1 I AIgH giaT fF a8 ARTE-t &
Horol ¥ FIUSTE §U ¢ 1 B PT YaRTY 519 SR D, 1 Iae 81 31 91 a1 ¢

S TR B Ugh -9 U T Uy BT ITR ga133:
- TR TR & & | PI--97 gI0T 82

1. 98 Ha® 5l

2. I8 TR W AT B

3.98 T HIAA T

4. 98 Tl FAeaT 5

Correct Answer :-

. ggfiea gl

7) ‘@ H3 HigHl & q1¢ 3T A1 Ja§ I NP 3RGAR 3@ T AT {6 T@H $t ag AL § g, “AIgaar
aﬂmgﬁemﬁgw&ﬁﬁm,a‘rg@mgaﬁHmeﬁﬁaﬁ_%ﬂn%gaﬁaﬁmennéla‘s'qawgaﬁ
B Sws A1 Sid ATy A TSIed 5T YD, “Pel § HiH? 3T 9eT g9 Herel § @ 17 3R oF Wi\ o1 gaen
ITP! Uhs H AT T4T, @ ITIA WV VT | IV TP Y R-YX B STATl T Hip W §H SRR 37
Tqd $1 SPaR A S Id &, 50 T TS TEd B | @ A 7 T frar a7 Su9A g8 gied a | @ forane
TS 71 A Sru= yaan & S faam | gaan suferg SHet yensit & Hiv faan & g9t Arqw o1 % & yavy
¥ e a1 § | FUrad 3a &) v B A 9o {6 < St TRGRTe Smat 8 SR T & 1Y S8 H) /M B gl
i "¢ g foigT BT 38T 56 FEAT $ 916 STd 98 Fa¥ o o, o 77 TR @ v 949 o) guum fager



oo ok g, Hédl 3g ST a6l § BIS &1 | UG & 3R HIe gid, a1 39 AT gial fb a8 ANTHT Bi
Hool ¥ RIUPSTE 5T ¢ 1 D6 PT YaRTY 59 SATRITH B, 1 gael 31 31 T a1 ¢

ST TR B UG 19 YD T Uy BT 3TR gaT33:
WRH- Ugd T $ fore g | Si=-an 2w Sfa g
1. JToL-gTcl A

2. Fies &

3. R H &

4, HCrd 48

Correct Answer :-

. JIU-9Tch |8

8) ‘@ 3 ARl & qIg 3T A1 Yag I N IR 37 &1 41 fr T ot TR a1k A 7R, qrgaa
aﬁma@amﬁamaﬁﬁm,a‘rgaWrgaﬁamaﬁﬂmmn%gaﬁaﬁmannél I8 YT Pt
§ sws A oid YavTy A TSed 5T YT, “Fel 8 W2 31 9e1 g Fael § @ 17 3R 9d WiH BT gaen
IAP! Uds T 3T T, a) I UU-ETdl W A Iq Ths B R-IX B STATl WY NP W §H TR 30
Jdd ) PR # ¢ 3d €, §H e WS 6 &1 P A 1 A T e a1 SR g3 wled Ta A o e
TR 78T 1 H U= Yarer §Y S9 fean yaen sufire st yensi # Hiu fear i g3t areqw o1 fos & yarry
¥ firer we1 § | Uradl 39 31 v i A garn % @ St aRTa oman 8 SR T & A1y S8 W I gl
A °e gre™ T HRaT 38T 59 JIT & 918 WIF a8 Fav T &, df A7 TRR F 3= 99 &) guang f/awr
faar ok A, Feh Az ITT 9181 A Bls 1 UTETAT & 3R BIe 814, df I/ AIgH ghar fF a8 ARTEt &
Faol @ RIUSTE §U ¢ 1 D6 $T YaRTY 99 SR H, 1 gael g1 37 T a1 ¢

IUYe TRIR Y USH 19 IR 7Y UY BT IR Id133:
- HIGHT & i pie gia d) fras o gha?
1. AR

2. I
3. 391
CRINIC]

Correct Answer :-

9) ‘@ ®3 Ut ¥ a1g 3T V| Yag 19 N RGaR 3@ 38T 4T fob T B ave s A gR, AgaaT
BT R G ST YOS F ST, ot G YeRTE B Yait § T A & gadt $1 A1g 1T | T§ YavIg B
B Siws A1 oid YavTy A TSed §U YBT, “Fel & HiH? 3 9T g Fae § @ 17 3R 9 i\ BT gaen
ITP! UHS | 3T T[T, df ITIA WV [T | IH TP B R-gX B STATl T Hip W §H SRR 30
Jad $I AHaR A 2 A T, 59 I TS 5d | @ | 71 F ot frem w1 IuA g Wed? 1A | o ferme
TRATS 78T A U1 Yarer §Y S9 fan yaen safere st yensi # Hiu fear i g3 wrqw o1 fos & yarry
¥ e a1 § | FUodl Wa &) & B A 9arn {5 <& St IR St 8 SR T & 1Y IS H] /M B G-
T e grert it FeaT Y811 39 Y1 & 91 919 a8 Hav Td 0, df 39 IR A U 1 H guary Raadn
faar ik s, Fleht 3 Sua! a6l & Bis & UTaT & 3R FIe g14, dl 3 WIgH gar f% ag ArTH-t B
Fa | RIUSTE §U 71 BT $T YaRTY oG SATRITH B, A gadlT g1 3H I a1 e



IUYFT TR BT U -1 IO T YY BT IR Id133:
UH- AP Ja§ FT @ A2
1. T i 3RAER 3T T8 U

2. TRRTA T Y|
3. CgaH MY 3|
4. o fer@ 3B |

Correct Answer :-

. I iR 3REER 3 g 3|

10) ‘@ $3 Ul & d1¢ AT V| JYa§ I Nh SGIR @ T 4T fh T $t g A A G, Aq1gaar
aﬁaﬁg'ém%maﬁﬁm,a‘rgéWrgﬁamaﬁﬁmmw%gaﬁaﬂmannél IT YRTY Pt
§ Sws A oid YavTy A TSed §¢ YT, “Fel 8 HiH? 31 9T g Fael § @ 17 3R 9F Wi\ BT gaen
IAP! Uds W 3T T, a) I UU-ETd W A IA Fhs B R-IX B STATl WY NP W §H TR 30
Jqd &1 SPaR A ¢ ¢ &, TH AT TS @A ¢ | ‘P I T H 7d fHran a1 39 g3 FHed T & o foran?
TR 78T 1 H U7 Yarer g1 S9 fean yaen sufere st yensi # iy fear i g3 areqy ot fos & yarry
¥ firer we1 § | ot 39 &1 v i A garn % @ St aRTa oman 3 SR T & A1y S8 HY W B g
T 5 gl T Fvar TeTI 39 GET & 91 9 98 Fak Td &, df A7 IR A v+ 11 &Y gy @t
faar ik e, el 3 SU! a6l # Bis &t HITT & 3R Pie 14, dl 3/ HIGH giaT P a8 NG B
Fool @ RIUHTE §U ¢ 1 D6 $T YaRTY 9G SATRITH S, 1 gaelT g1 3 T a1 ¢

IUYe TRIRI HY UgHR 19 D T Uy HT IR Id1338:

- A A T Hel o5 g w1y o1 7% & yavy A Rra g
1. Hifdb T g U1l

2. Fifds &b g Tl

3. b “YeRTY T6T HISG T Ul

4. FIfep g5 v Tl

Correct Answer :-

. T @ FHaP U1l

11) & HS ARl & 918 3T A | Yag I19 N GIR 3@ 38T AT % T #1 ae oW A §9, Wga
BT R G ST YOS F ST, ot G YeRTE B Yoait § T HiH & gad $1 91g 1T | T§ YAvIg B
B s A 30T YAy 7 eeiad §T YD, “Pel ¢ HiH? 31 9¢1 g Fas | @ 1~ 3R 5« W7 o1 gaan
ITP! UhS | 3T 74T, df ITIA WV [T | N TP Y R-gX B STaTl T Hidp W g9 SRR 30
ad P HaR W ¢ 3d &, 89 T @S TEd 2 1 P | T F T e o 39 g qied] Ta @ o o
SRR 78T 1 A U1 Yaren §) S9 fan| yaen safere sust yesit # Hiu fear i g3 wreqw o1 fos & yarry
¥ e a1 § | FUod Wa &) v B A 9ar {6 <@ St IR St 8 SR T & 1Y SSH) /M B gl
i = g foigT BT 8T 59 AT $ 91 9 98 Fa¥ T o, o 77 TR @ 30 99 ) gua g
faar ik e, Fleht 3 Sua! a8l & Bis & UTaT & 3R FIe B14, dl S/ WIH gaT % ag ArTH-t B
Fa A RIUSTE 5T § 1 BT $T YaRIY 99 SR B, a1 gaaT g1 3H G a1 e

ST TRIIRT B UGHR -9 U T UY HT IR 9a133:
TH- @ fopa=t Afgl a1g Uit TRRTA ST U1?



1. T AR a1g
2. &% HigHl §1g
3. 33RE Hig a1g
4. A gfgHl 1

Correct Answer :-

. B ARG

12) @ B Afe-l & 91¢ T ¥ | Ya§ I WP GIR 39 3571 AT % T 31 a8 A A g, Aga
aﬁma@mﬁwﬁﬁm,a‘rg@rWﬁwﬁﬁmﬁﬁw%gﬂ%aﬁmmnﬁl I8 YRTY Pt
§ Sws A oid YavTy A TSed 5T YD, “Fel 8 W2 31 9T g Farel § @ 17 3R 9d Wi\ BT gaen
IAP! UHs T 3T T, O I UU-ETdl W A Iq Ths B R-IX B STATl WY NP W §H TR 30
Tad B IPaR | ¢ 3 €, BH e TS W6 &1 P A 7 B T firem? Fur SR g wied? a A @ fra
TS 71 A srue gaan & S faam | gaan swafene SHet yensit & Hiv far {6 g9 wrgqw o1 % & yavip
¥ firer w21 § | Uradl 39 31 v i A garn % @ St aRTa oman 8 SR T & A1y S8 AW I g
A " gre™ T HRaT 38T 39 YT & 918 WId a8 Tav T &, af A7 TRR J 3= 99 &) guang f/aswr
faar ok A, Feh Ag ST 918l A Bls 1 YT & 3R Bie 814, df I/ AIgH ghar f% a8 ARTE-t &
Fool ¥ RIUHTE §U ¢ 1 D6 $T YaRTY 9G SATRITH S, 1 gael g1 37 T a1fg ¢

IUY TR P UGHR -1 YD 7T UY P IU= 9133
UH- & fUselt Id Sl omar 12
1. faeent

2. TR
3. A%

4. HITY

Correct Answer :-

13) P Ps ARl b d1¢ MY A | Yo§ I T 3RGIR 3@ TET 4T {6 BT B g S A g9, -qrsaa
aﬁmg@rsm'—ﬁ'ﬁmaﬁﬁm,a’rg@qa?rgaﬁamsﬁﬁmmna?gaﬁaﬁm&nnél IE YaRTY B
§ Siws A1 Sid YavTy A TSed §U YT, “Fel & HiW? 3 de1 g Fae § @ 17 3R d i\ BT gaen
ITP! UHS | 3T T[T, df ITIA WV [T | IH TP B R-gX B STaT| T Hidp W §H SRR 30
Jdd ®) SpaR A 2 ¢ &, TH AT WS @A & | ‘& | T H 7 e o IR g ARed? T | @ foran?
SRR 78T 1 A U7 Yarer §Y S9 fean | yaen safere st yensit # Hiu fear i g3 wrqw o1 fos # yarry
¥ firer a1 §1 fUsdl 3a & te i A 9arn i & Sl IRTE it @ 8iR 1 & 1Y S3H- JTH Bl gl
T e grert it FaT Y811 39 Y1 & 916 919 a8 Hav Td &, @t 39 IR A U 1 i guaAry aadn
faar ik s, el 3 STt a8l & Bis & UTaT & 3R FIe B14, dl S/ WIGH gaT % ag ArTH-t &Y
Fal | RIUSTE §U 7 1 B $T YaRTY 99 SATRIH B, 1 gaelT g1 3H T a1 ¢

ITYaR TR Y USHR - UD T Uy o1 I<R Ja1sd:

UH- fa Farar & & ot agRTa A fHigr & a1 4
1. dgq

2. YRIY A



3. T® fiF A
4,79

Correct Answer :-

. T A

14) ‘@ g Alg-l & q1¢ AT V| JYa§ I NH SGIR ¢ VT AT fh T 3t g A A G, “A1saar
aﬂmgﬁaﬁweﬁﬁm,a‘rg@mgaﬂHmeﬁﬁmmn%gaﬁaﬁmasnws‘l qE YaRTY B
# Sws A1 oid ATy A TSIed §¢ YD, “Pel § W2 31 9T g9 Ferel § @ 17 3R oF WA 1 gaen
ITP! Uhs | AT 74T, @ ITIA VLT BT | IV TP Y R-gX B STATl T Hip W g SRR 30
Tad $1 SPaR A ¢ Id &, TW T TS TEd & | @ A 7 # T frar Fun Su9A g5 qhed a | @ forane
TR Y| A7 (U1 gaer o I foran| yawn swig Iwet Y # Wiy fun i g9 Ay o1 fF § gy
¥ e a1 § | FUrad Wa &) v s A 9o {6 @ St TRRTe St 8 SR T & 1Y S8 H) /M B gl
i °e g foigT BT 8T 39 AT $ 91 STd 9 Fa¥ Mo o, o 77 TR @ 309 99 9 gua fager
faar 3k e, Fleh 3 ST a6l & Bis & YT F 3R P 14, dl S/ WIGH gaT % a8 ANTH-1 B
Haol ¥ FIUSTE 5T ¢ 1 B0 PT YaRTY 519 SR B, 1 gael 81 31 91 a1fg ¢

S TR B Ugh -9 U 7T Uy BT 3TR ga13d:
- foraeh gael & YeaRTy A Sips foram Ut

1. ¥ &

2. F

3.7 %

4, AGD’ b

Correct Answer :-

. AP

15) @ B Ale-l & 91¢ T ¥ | Ya§ I1I WP GIR 39 3571 AT & TO $1 aRE A A g9, Agaa
aﬁma@arqﬁamaﬁﬁm,a‘rgéWrgaﬁamaﬁﬁmmw%gaﬁaﬂmannél I8 YRy B
§ Sws A oid ATy A TSed 5T YT, “Fel 8 W2 31 9T g Fael § @ 17 3R 9d Wi\ BT gaen
IAP! UHs T 3T T, a) I UU-ETd W A IA Ths B R-IX B STATl WY NP W §H TR 30
Tad B JPaR | ¢ A €, B e TS W6 &1 P A 71 B T fireme Fur SR g wied? a A @ fa
T 71 A srue gaa & S faam | gaan suaferg SHet yensit & Hiv far {6 g9t wrgw o1 % & yavip
¥ forer we1 § | Uradt 39 31 v i A garn % @ St aRTa oman 8 SR T & A1y S8 T B g
T °e gre™ FHigT HRaT 38T 39 AT & 918 WIF a8 Tav T &, af A7 TRR J 3= 99 &) guang f/aewr
faar ok A, Fleh g ST 918l A Bls 1 U1 & 3R B 814, a1 I/ AIgH ghar % a8 ARTE-t B
Fool ¥ RIUSTE 5T ¢ 1 D6 $T YaRTY 5G SATRITH S, 1 gael g1 31 T a1fg ¢

IUYe TRIR Y TSP 19 IR 7Y UY o7 IR Id133:
UT- B BT YaRTY AT D Y T ST A1eQ?
1. 7Tt fiye =nfg ey

2. HET ST IR

3. gl Sl o1 anfg |

4. Jefell 31T ST &1 =Ry



Correct Answer :-

o Jadl 3T 961 g1 dMeT|

16) A Uft SRy UfSa 95 | Fe1 P g frg SR I
WeE Ya St O SWIE! | @ [T ATV P e WIg! i

a1 feras, 9= e wive | iRy Riwa, gftr wefaf At i
TR 31 S5 G ¢TaT | 9 % ST 1 AR wrar 2
AT g8 giAan-geT | STar Aig 7 ufE R der

Tq gd TS A, | TR A3t gaar, |l
WH-HYT TR Hifa faRg | P Ag SN TR URE 1l

%3 7 NI 99T, $3 7 dive o Jid ?

it U8 e HET- 578 Hax gg 9 |l

IUYT UL DI USHR -7 IS TT UY HT IR Tad154:
U=H- U Uferral # f5a vram & JH= /T T 82

1. 33l Ferdr]

2. ATH

3. ¢ grad

4, lT

Correct Answer :-

17) HUfd SRy UfSa 95 | Fe1fP s frg SR I
g Ya-T ol R SWRTET | o T HIY & ¥< "I I

a1 feras, 9+ e wive | iR e, gftr uefif et i
TR G3HT o UY 3TaT | fog @ Sivrd &1 fFRag aran 211
AR g g4 | Srar g 7 ufE R der

7d gd WIS YaT], | AT 3emSel Yoy, i
WH-HUT Uf UiTa foaRg | R dg s T uRg

%3 7 NI 99T, $5 7 divg o Hid ?

il 9% S FET 576 Hax gs 9 Il

ST U= F UgHR -T2 U 7Y UY T ST I134:
WH- U Ufoal & 61 &7 Ui ford | T @2

1. Riga

2. AT

3. Mol

4, Fd3R

Correct Answer :-



18) # Ui 3Ry UfSa= g3 | He1fe g fpg sk gzm
Weg Yaq ol O SWIE! | & TF ATV P °e WIE! I

a1 sy, 7= e ot | fea Riwa, gitr uefaf= dwer
TR G3HT oS UY 3TaT | g @ Sivrd &1 AR aran 211
AR g g4 | Srar g 7 uiE R dr

7d gd WIS YaT], | AT 3emSel o, i
WH-HYT TR Ui foaRg | P dg s T uRg

&g =T S S, $F 7 i o Hid 2

il 9% S PET 576 Hax gs 9 Il

ST UL B UgHR 1 I Y UY HT IR qad13:
U=H- Ugd Ufokal § {6 1% ame=m e

1. g3

2. AT

3. s

4. 33 E A

Correct Answer :-

19) A ufg 3Ry Ufsae g5 | He1 P g frg SR T ggm 1l
Weg Yaa ol O SWIE! | & T ATV P °e WIE! I

a1 fRrasR, wa e ot | fea Riga, gitr uefaf= @
TR G3HT o Uy 3@TaT | g @ Sivrd &1 PR aran 211
AT g g4 | Srar g 7 ufE Ra der

799 gd WIS YaT], | AT 3emSel gorary, i
WH-FHYT TR Hifa foaRg | P Ag SN TR URg |l

&g - S o, $F 7 i o Hid 2

il 9% e PET 56 Hax gs 9 Il

ST UL Y UgHR 1 U T UY HT IR qa13d:
U=H- Ugd Ufeaal # ArTafa S o1 H81 T 82

1. §_1 e

2. Hlg |

3. URHTHT
4. gfAar gt

Correct Answer :-

. g g

20) ¥ uf? 3Ry UfEa~s g | w1 for g frg siR A <ggm
Weg Yad ol O SWIE! | & T ATV & °e WIE! I

a1 frasy, w4 e ot | fea Rive, gitr aefaf A
TR Y31 S5 G et | g % ST 1 Fag urar 2
AT g g4 | St g 7 ufE R dr



°q gd A1S Jd | AT A3 Jeradr], |l
V-5 TR Hifd foeRg | PRI Ag SN R URE 1l

&3 7 G 9T, HF 7 Al o Wi ?

it U8 e HET- 578 WaX g5 9 |l

IUa TR B Ugh 1 Y& T UY BT IR 9d153:
W=H- Tegd Uit foe wmar o fafea 32

1. 3fgeht

2. 59
3. Tal gl
4. JTSTRITHT

Correct Answer :-

. 3fael

21) Huf? sRy ufSas g5m | Fe1fr s frg SR g I
g Ya-T o) R SWRTEY | & T AW & ¥ " i

a1 s, w= o ot | fea Riva, gt uefaf~ dser i
TRE g1 Og UY ¢EraT | fag 1% o1 &1 R umar 2 11
ANTH Tg G- | STarag T Ul fadur

d gd TS VA | W A3 Farar, |l
W-FHYT TR Hifd foaRg | I Ag SN TR URg 1l

¥ 7 G 99T, HF 7 A o 1 ?

it U8 e HET 578 Ha¥ g5 9 |l

ST U= $ UgHR 12 U 7T UY BT 30X Ia133:
WRH- U Ui ® JAar frd werman 82

1. 313l Jaid,

2. g3

3. 3Ud gd

4, AT

Correct Answer :-

22) Huf? ery ufSa< g5 | w1 fr s frg SR I
g Ya-T ol IR SWRTIEY | A T AIY & ¥e " i

- farase, w91 e Fiver | f3w Riga, gfy vefaf Hwer i
TRE 3T oI5 UY ¢@aT | fog % o1 &1 R umar 211
ANTH Tg G-t | Srar s T Ul fadur

Tq gd TS A, | W TSt gaar, |l
TU-HY1 Ufg Yifa foarg | g dg s g uRg 1l

¥ 7 G dT, FF 7 Al o 7 ?

it U8 e HET 58 Wa¥ g5 9 |l



SUYF U D1 UGHT A1 I T YY BT IR Ta1g4:

W=- R Ui o ufed < R, gftr vt diwer & smu ug R w1 sid @2
1.dg

2. 894

3. ged
4. 98

Correct Answer :-

23) A uf? 3Ry ufEa~s g | w1 for g frg siR A ggm 1l
UEE Ya-T ol R SURTET | o AIY & I< | I

a1 sy, w4 e ot | fea Riva, gitr aefaf= @
TR= AT 95 Uy ETar | {3 7% ord &t fARa= gmar 2 i
ATTH g gi-maT-deT | 9far |tg = el faa g

T gd AIg A | TR SaATSat Jaar |l
W-FHYT TR Hifd foaRg | P Ag s TR URg 1l

¥ 7 G 3T, HF 7 Al o °id ?

il 9% e FeT 56 Hax g3 9 Il

ST TR P UgHR A UD T U PT IR qa134:
URH- U Ui § ford gf g e man 82

1. 94 g

2. ARTHC

3. UG

4, faasR

Correct Answer :-

24) TR 3Ry ufSas 95 | ve1 fr gwg frg o T ggm i
g Ya-T o R SWRTEY | & TE AW & g A |l

a1 s, w= e ot | fea Riva, gt uefaf~ dser i
TRE g1 o5 UY EaT | fog % o1 &1 AR umar 2 11
ATTH Tg g | STar g el fadur

M4 gd A5 A | TRT SaATSet gaar |l
W-FHYT TR Hifd foaRg | I Ag SN TR URg |l

%3 7 G 99T, B3 7 Al o Wi ?

it U8 e HET 578 WaX g5 91 |l

SUYa TR B Ugh A Y& T UY BT IR 9d153:
- Hfd F AR 9608 & SWR fbaq Ya 32
1. A8



2.91d
3,4
4, I8

Correct Answer :-

25) ¥ ufg 3Ry UfEa~s g | w1 fr g frg sk A ggm
UeE Ya-T ol R SWRTET | o T ALY & b AL I

a1 fRrasR, 7= e ot | fea Riva, gitr aefaf A
TR= AT 95 Uy @TaT | {3 7% ord &t FAR= gman 2 i
ATTH g G- | 9far |rg = el foa g

T g WIg A | AT SaATSdt Jaar |l
W-FYT TR Hifa foaRg | P Ag s TR URg 1l

Fg 1 WG 991, FF T AW o 7 ?

il 9% Ue PET 56 Hax g3 9 Il

IUYa TR &1 Ugh A Y& T UY BT IR 9a153:
- Hfd & AR 3P gl 9id Ha ard gl

1. fdl & gRT U8 HUT Ugd R

2. fo it & RT T8 HUT BE oTH W

3. Tl & GRT & T Tiq o IR
4. fp it & gRT IHHT A o R

Correct Answer :-

. fodl & gRT I8 HYUT UG W

26) H TR 3Ry UfEas 9 | Her fr g8 fpg iR T g i
WeE Ya S R SWIEN | @ [T AN F °e HIEY 1

a1 sy, w= 3o ot | fea Riva, g vefaf~ dser i
TRE g1 Oig UY ¢@raT | fag % o1 &1 AR umar 2 11
ATTH Tg g | STar g T Ul fadur

MY gd A5 A | AT SaATSet gadr |l
WH-FHYT T Hifd foaRg | I Ag SN TR URg 1l

%3 7 G 99T, B3 7 Al o 7 ?

it U8 e HET 58 WaX g5 I |l

ST U= F UgHhR -12 U 7T UY T 30 I133:
W= $13 & e fa 1 7o sroma fPa su d @2

1. JAIOT

2. 3fIUT

3. fregor

4. |0



Correct Answer :-

27) Huf? ery ufSas g5 | w1 e s frg SR I
WeE Ya St O SWIE! | @ [T ATV P e WIg! i

a1 feras, 9= e wiveT | iR e, gftr uefif et i
TR 3T S5 Gy ¢TaT | 9 % ST 1 FRa wrar 2
AT g8 giAan-geT | STar g 7 ufE R der

Tq gd TS A, | TR A3t gaar, |l
WH-HUT Tf Uifa foaRg | frdg s T uRg

%3 7 S 99T, B 7 Al ord Hid 2

it U8 e HET- 578 Wa¥ gg 9 |l

IUYed TEIi< &1 Ugh? ) YD T UY BT IR 9133

- Ffd F FAR 5 o H I B B TG 3R 3T IHd1 32
1. BIS &l

2. ANTHC

3. ¥dr

4, SlT

Correct Answer :-

. DS TRl

28) T uf? ery ufSas g5 | w1 b se frg s i
g Ya-T ol R SWRTET | o T ALY & I< A I

a1 feras, 9+ e wive | iR e, gftr uefaf et i
TR G3HT o UY 3TaT | fog @ Sivrd &1 fFRag aran 211
AT gg g4 | Srar Aig 7 ufE R der

M99 gd |Ig A4 | AT SRS Gerdr, I
WH-HUT Tf Ui foaRg | P dg s T uRg |

&g 7 A 94T, HF 7 Al ord Jid 2

il 9% S FET 576 Hax gs 9 Il

SUYF UL BT Ug@HR - YD T Uy BT IR 9a1g9:
WRA- 39 HId1 &1 B4 TG $S Bt IUFRITA FeT A1 82
1. e

2. GOR |

3.9cH

4. SEUS H

Correct Answer :-

. g H



29) # ufg eRY UfSd=< g3 | He1fd g8 fvg sl Tgzm 1
eg Ya-T ol R SWRTET | o T HIY & ¥< AL I

a1 frasR, w4 e ot | fea Riwa, gitr uefaf= dwer
= Y31 ©ig UY ¢@raT | fag % o1 &1 AR umar 211
ATTH g G-t | 9far |tg 7 Ul foa g

T g W5 A | AT SaATSet Jaar |l

WH-FHYT TR Hifa foaRg | P Ag SN TR URg 1l

%3 7 NI 99T, $5 7 divg o Hid ?

il 9% S PET 576 Hax gs 9 Il

ST UL Y UgHR 1 U T U HT IR qa13:

- U Ufaal & SR STd § A1 frd Tile Javdr 8 3R #1 frd 99 aoar 82
1. DS [ oft 7t

2. AT B

3. A a7l &l

4. T I B

Correct Answer :-

. D13 by Hi T

30) A uf? eRy ufSae g3 | Fe1fr s frg siR gz 1
Weg YISl O SWIE! | & [T ATV P e WIE! I

a1 feras, 9= e wive | iR e, gftr uefaf et i
TR= AT g Ty 14T | {3 7% ov1a $t FAR= vmar 2 i
ATTH g G-t | 9T atg 7 Ul fa dar

Tq gd TS AR, | TR TSt geaar, |l
WH-HUT Tf UiTa foaRg | g s T uRg |

&g T S S, %3 7 Al o A 2

St Ig Ue FET- 53¢ Hax g3 I |l

IUYad UL &1 Ugh? ) YD T UY BT IR 9133
UH- Hid & AR 39 frd 59 ordf &t gagman
1. fagri &1

2. 9=l Bl

3. UIGhI bl

4. Ofogdl &1

Correct Answer :-

. gfisdi &t

Topic:- Social Science (SSC)

1) Which among the following is the driest desert on Earth? / fuafafead I s q&'ﬂ ™ 999
5 IR 82



1. Kalahari / m
2. Tabernas Desert / REEGIR REESIG

3. Atacama / SCIHTHI
4. Gobi / Tt

Correct Answer :-

o Atacama / S{CIhTHI

Match the inscriptions with rulers

1. Mandasor Pillar inscription | A. Chandra Gupta
2. Meharauli Pillar inscription | B. Skanda Gupta
3. Bhitari Pillar Inscription C. Pravar Sena II
4. Chamak Copper plate D.EKumargupta [

| et & Gy e &1 AdT &

1. AR TOH Wee@ | A, =% o

2. #gtelr wa feeE | B. &g Iod

3. faad Taer Wemer@ | C. 9at Har 10

4. OTHG FR T D. FARCA TAH

1. 1-A, 2-B, 3-C, 4-D
2. 1-D, 2-A, 3-B, 4-C
3. 1-D, 2-B, 3-A, 4-C
4. 1-D, 2-C, 3-B, 4-A
Correct Answer :-

« 1-D, 2-A, 3-B, 4-C

3) Fllsstandsfor ./ UH3MTE3MTS &I Y0l &Y

1. Foreign Institutional Investors / LhTQﬂ $%Cnl IR Y| $'<\Ncl{-lr

2. Foreign Income Investments / uD\I,‘\{"I Q1M H $'<\leécal.d
3. Foreign Investors Income / B Eﬁww
4. Foreign Investment Index / BT mﬁf E@KW

Correct Answer :-



» Foreign Institutional Investors / B $%Cnl - $'<\JI"&~':1{-Ir

4) The most appropriate criterion that determines the selection of a teaching method is: / RCE]

I UGS ol T a1 ugfa & a1 &1 fuffea s @:
1. The nature of the subject matter / ﬁ'ﬁl'q-aﬁ Gl Wﬁf
2. The classroom environment / &l T dIdTdRUI

3. The availability of resources / BRICEIEIRLEREG

4. The incompetence of the teacher / RI&® DT &

Correct Answer :-

« The nature of the subject matter / [dSI-a% DI UPHfd

5) The vesara style in the building of structural temples was developed by: /

T wieRl & fmfor & v et o g1 fawRa &1 78 <&t
1. Pallavas / Uetdid

2. Chalukyas / DI

3. Guptas / T
4. Mauryas / g

Correct Answer :-

« Chalukyas / dTdH

6) Development is a and nonstop process at all periods and stages of

human life./ QPRI AFT eI F AN AT MR WUTATHE 3R ATRN
ufspar 2|

1. uniform / ThJHTH
2. important / W

3. general / HTHI

4. continuous / Idd

Correct Answer :-

» continuous / Hdd

7) Students are split into small groups for a specific period of time and are made to discuss a

given issue or topic. This method is known as: / SHEl B PS fafry 9wy srafy & ﬁl’({' Bic



gl | faurfora faar wrar 8 ok i 13 g, a1 fawg R faaR-fanst s sirar g1 ag
LEA HEard g

1. Brainstorming / @T&"lflﬁw (aqEﬁW)

2. Buzz session / T[S 95 (5] ITM)
3. Symposium / PIRCE(]

4. Debate / ATe-fddTg

Correct Answer :-

» Buzz session / ‘J,Trl:f a9 (@W@'-‘ZFD

8) Panini was the author of / TR0 A1 & @& &
1. Ashtadhyayi / ST

2. Mahabhasya / HeTH™]

3. Daskumara Charita / GRIPHIR BN

4. Mrichhkatika / T8 ichH

Correct Answer :-

. Ashtadhyayi / 3{STET

9) In projective techniques of personality assessment, behaviour is evaluated. /

fe TP P ISR THNBIH_ deR ST qeuic a1 arar 2
1. criminal / 3{ORTH

2. conscious / dd

3. overt / U

4. covert / UM C

Correct Answer :-

« covert / HUDC

10) When was Sikkim created as a full-fledged state of Union of India? / fafera &1 T

Y & YUl X4 BT goll B faT 1471 Y12
1. 1985
2.1975

3. 1970



4. 1980

Correct Answer :-

« 1975

11) At which point of discussion, does social science differ from pure science? / gl & g

foig w, AT fasm fags fasm @ R glar @

1. Degree of complexity / SIfeddT &1 /=T

2. Repetition and duplication / JRTGRT 3R fgRIgfi

3. Validity and reliability / J&@T 3R fasa=iaar

4. Exactness of measures for prediction / Uﬁﬁaﬂ & forg Iurdi/argl ot tlﬁ'f{l,@?ﬂ

Correct Answer :-

« Exactness of measures for prediction / W?FT & forg Iurdi/argl ot CIi?%l@ﬂl

12) Aryabhatta and Varahamihira belonged to which age? / GIT&‘J-[E' 3R wRefAfeR fra
I I gafed A2

1. Kusana / @YUl

2. Harsha / ‘e’Gf

3. Gupta / [t

4. Maurya / o

Correct Answer :-

+ Gupta /[t

13) Who among the tomar rulers established the fortified city of Lal Kot (Delhi) in 8th

:ﬁntury?/sﬁma&ﬁﬁm?hmwﬁmaﬁaﬁﬁ)%mwﬁamaﬁ

1. Anangpal / 31FTUTA

2. Lakhan Pal / ¢Id- YTl
3. Tejpal / LIS

4. Madan Pal / Ha UTdl

Correct Answer :-

« Anangpal / 3O



14) Who was the powerful woman ruler of Kashmir from 958 to 1003 AD.? / 958 T 1003

SUd] 9P HIHR P Afwr=mel Afgar g $19 A2
1. Kauravaki / W
2. Prabhawati / THTGd

3. Didda / f&&T

4. Rudrama / S &H]I

Correct Answer :-

. Didda/fegT

15) Who coined the word ecology (Okologie)? / RIS (SNHIaTS) Ueg HT MAHR
fpa= forar?

1. Robert Whittaker / 3Ja¢ fagehr
2. Ernst Haeckel / QT\‘E‘: %W
3. Charles Darwin / T STfa-

4. Arthur Tansley / MR Ta

Correct Answer :-

o FErnst Haeckel / QT\‘EF %W

16) Who is the author of Ashtanga samgraha (Summary of the Eight Branches of Medicine)
in Gupta period? / & ®Td § TR UG (Fafcar &1 3o M@ HT IR & dGD
D2

1. Vagbhata / dTHg

2. Bhratahari / ll?f&a'ﬁ

3. Charaka / ¥

4. Susruta / Hd
Correct Answer :-

+ Vagbhata / dTHS

17) Who was given the title of ‘Lakh Baksha’ (donator of hundreds of thousands) in early

:_nrédieval times? / TRTPHD HOBTA H 'TRG X1 (ADHT| goR] BT gIdT) B Uty fpa &
gt?



1. Balban / ddd-
2. Razia / Jfordl

3. Qutub-uddin Aibak / PIge - Cdd
4, Firoz Tughlaq / oIt IGED

Correct Answer :-

. Qutub-uddin Aibak / PIIE A UadH

18) Between whom was the Battle of Dharmat fought? / efa &1 & fe ¥ BT YUT?
1. Aurangzeb and Dara Shikoh / SR 3R ERT R

2. Babur and Ibrahim Lodhi / STeR 3R Segd olef

3. Akbar and Jahangir / 3[R 3R STEITR

4. Akbar and Rajputs / (&R 37 IoTgd!

Correct Answer :-

+ Aurangzeb and Dara Shikoh / RS 3R SRT Rl

19) MOOC:s stands for: /@Gﬁéﬁ'?ﬁﬁmé

1. Massive Open Online Courses / ARrg 3o NIEIES DIV

2. Massive Open Orientation Courses / Afrg i JHIRTACTHA DI
3. Massive Online Open Courses / IR N IENIES 30 BRI

4, Mobile Open Online Courses / lﬂansa 3o 31T'1¢1I$'1 OD\I{-IT\ﬂ

Correct Answer :-

« Massive Open Online Courses / ARy 3NuA 3‘IT"IQ'1I$"I BRI

20) amendment added a list of Fundamental Duties to the Constitution. /

ity e § 9 Sdal # s TR Sigar g
1. 427 / 40q7
2. 39t / 30di
3. 471 / 4741

4. 44t / 4447



Correct Answer :-

o 427/ 47q]

21) Erosion by solution is termed as: / faer a9 gRT 3rUREH P BT SIdl %:
1. Evorsion / STaoRTcA

2. Cavitation / TfgTa

3. Abrasion / 3{qEYUT

4, Corrosion / &R

Correct Answer :-

« Abrasion / 3TgyUl

22) Ramsar sites are the areas which are to be protected for wetlands. Which one is the first

Ramsar site in India? / IR YA aa%ﬁ%enﬁq&r%mmm%mmﬁl HRd |
gl IR A B 18?2

1. Loktak Lake / GilcbclTep Sitel
2. Chilka Lake / fiIeept it

3. Vembanad Kol / d%&HTS &I
4. Kolleru Lake / B> sid

Correct Answer :-

« Chilka Lake / feiep1 3@

23) The curriculum principle that allows necessary changes in its content and methods as

per the changing needs and situations is ./ QﬂT uregwH Rrgid %, S geadt
raxgdarsil 3R uRfRufedt: & AR - fawa-avg iR usfoal & smaxas
CIRCOERSIGIE

1. Principle of integration / ThIh0l BT Rigid

2. Principle of flexibility / ATed &1 fgid
3. Principle of motivation / IR &1 Rl
4, Forward looking principle / emaliial P Rigid

Correct Answer :-

« Principle of flexibility / TAIcu- T Rigid



24) The teacher’s mental and emotional visualization of classroom activities is: / PE&T

nfausfoal & Rige 3t aafie ok weEe s R
1. Year plan/aﬁqm

2. Lesson plan/tl'l_o"tha:ﬂ

3. Unit plan/@é@ﬁ:ﬂ

4, Resource plan / LRICERITEI]

Correct Answer :-

« Lesson plan /Ul BISEN|

25) The committee headed by Prof. C.H. Hanumantha Rao (1984) went into the question of
evolving methodology for planning. / . dt.ew. BJHARIG & SIET arelt
afafe (1984) e & fore usfa fawfRa w3 &1 gey | wm

1. District Level / forar g
2. Village Level / UTH TR
3. State Level /XY TR

4. Block Level / TP TR

Correct Answer :-

« District Level / INNIESEIR

26) Which Act drastically redrew the boundaries of states and territories in India,

organizing them along linguistic lines. / g affaw 3 yRa & Isut ok &l &t drrai
P BIB! ¢ dP HH B U1 3R I HIUTS Y@13il & 1Y afRyd fHar

1. States Reorganization Act, 1956 / I0 GTia- ST, 1956
2. States Reordering Act, 1959 / o9 G:3Jsh 0T SHf&TaH, 1959
3. States Reordering Act, 1963 / o8 U:3shHUI HfAfgH, 1963
4. States Redrawing Act, 1957 / o9 TA¢EH SffAaH, 1957

Correct Answer :-

« States Reorganization Act, 1956 / 159 TTa- S1ffaH, 1956

27) Which among the following is not a criterion for writing Instructional Objective? /

Frafafaa # @« fAdwnare SExy formq & foe &S ards 981 82
1. Specification of the learner / Rremeif fafifdar



2. The nature of the school environment / f&amu G J-IIE?IC1 I uqn'a
3. The learner performance / fRremeff 1 vei
4. Adequacy of instructional objectives / [RERUGAED 3=l Bt g

Correct Answer :-

o

. o EN
o The nature of the school environment / [d<lTcIY & HIgld G| Upld

28) Which among the following models of teaching belongs to Social Interaction Family? /

Fraffaa & & Rreror w1 w @ wfawrs amfe o frar ofvar @ weEfta 32
1. Inquiry Training Model / & dT$ PR EIREIC]

2. Non-directive Teaching Model / SR Rigor ufeme

3. Advance Organizer Model / Y 3{rarsieh ufad

4. Partnership Learning Model / JTIT feTH gfad=

Correct Answer :-

« Partnership Learning Model / ST {7 ufaam

29) Which battle was fought between Ahmad Shah Abdali and the Marathas in 1761? / 1761

o 3gHC AT ATTe R WRIST & T BI9-11 g5t g3l A2
1. Battle of Tarrain / A1 ®T &

2. Battle of Khanwa / dId] [ Y&

3. Battle of Buxur / SRR D[ &

4. Third Battle of Panipat / UIIUd &1 JdId g

Correct Answer :-

o Third Battle of Panipat / U= &1 ?‘Fﬂ’q J&

30) Which Jaina Saint is credited with introducing Jainism in South India? / E'fEI'UT HRd #

o+ o B Y3 HA T 47 frg S T B A6

1. None of the above / dqﬁdrl o3y Gf;lg T8l

2. Sthulabhadra / ¥JAYK

3. Indrabhuti / Sl
4. Bhadrabahu / H&dTg

Correct Answer :-



 Bhadrabahu / Hdlg

31) Where was the First Jain Council held by Sthulabahu? / ¥R[cTdTg GIRT UYH SRRV

el garg g 42
1. Kasi/ Eb—l'-‘Zﬁ
2. Vaishali / Q=ITel!

3. Vallabhi / aeaHT

4. Pataliputra / tﬂ??ﬂgﬂ

Correct Answer :-

« Pataliputra / tl'l??ﬂ'ﬂﬁ

32) How can a social science teacher infuse affective outcomes among students? / qryTfore

fagm= e o # IeRTES TRUTH &1 HA YU B GHhdl 8?2

1. Keeping the students intact through lecture method / IR Jgid & HreH O S| &I
3ffdeh el TG AR

2. Adopting collaborative learning inside and outside the class room / P&l & 3R 3R EIRES
g SETH B SUATHR

3. Through story telling method on freedom fighters of social eminence / A1 AT are
AT YA TR BT AT Ui o HIegH I

4. Through the teaching of wars and conflicts through ages / ﬂTﬁ | Q?S(Pf 3R Tusf & frem &
HIEH g

Correct Answer :-

» Adopting collaborative learning inside and outside the class room / P&l & 3faR 3R dlgr
IH[eh HITH B 3TATDHR

33) Which Article of the Constitution states that all authorities, civil and judicial, in the territory of

India shall act in aid of the Supreme Court? / Ifaum= & frg Glﬂ@_d i | Dol Tl % fPURA®
Tsadad | Jt wiftreor, AanTie SR <aTRies, Tat <aared ot Jgradr § S s

1. 141
2. 134
3. 144

4. 114

Correct Answer :-



34) Which was the political party formed under the leadership of Kanshi Ram? | BIRIRTH & ﬁﬂﬁ

H i Y I urdf wisa g% &t

1. Communist Party of India / YR Wﬁ? aref
2. Samajwadi Party / JHTSIaTd! ATt

3. Rashtriya Janata Dal / QT@H NERIR

4. Bahujan Samaj Party / SgoT- THIST UTC|

Correct Answer :-

« Bahujan Samaj Party / dguoi- HHIS aref

35) NABARD stands for ./ -TTSTS &1 YUl &4 gl

1. National Bank for Agriculture and Rural Development / ?‘I@‘q Tﬁf 3R UriuT fgh T s

2. National Bank for Agriculture Reconstruction Development / ?T@T[ ?ﬁf Q,:TﬁlﬂlfUT [CEIRNCED

3. National Board of Agronomy and Rural Development / T@U BRUIERIE 3R T faerg a1
4. National Board of Agriculture and Rural Development / ?T@'q ?fﬁf Td DI CEARECIS

Correct Answer :-

« National Bank for Agriculture and Rural Development / Tl'gl'q Eabl 3R rior o o

36) stated that ‘social sciences carry a responsibility of creating a strong sense of human
values, namely, freedom, trust, mutual respect, and generating in students a critical, moral and
mental energy, making them alert to the social forces that threaten these values’. / keI

wTaT @ 6 armfore fagm aridig g, srufq wadsran, faywy, smurft awm= &t aeigg uta-n
ST FA 3R B B TP Hgeayul, Afded 3R AFRS SHuil g1 H31 o1 e v g, s
I 39 YUl B Wa § ST arelt Arfore Wfeaa & fore gad drar g 1’

1. National Curriculum Framework NCF (2005) / TS UTGT9d o1 U AT (2005)
2. Commission on School Education / Tl TRI&T 3N
3. Education Commission 1964-66 / TRI&T 3ITANT 1964-66

4, The Curriculum for Ten Year School / ¢ I & hd & 1%111 Uradehy

Correct Answer :-

« National Curriculum Framework NCF (2005) / J$10 UTea=d] ot U@ THATT®H (2005)

37) is a type of unemployment wherein the workers are searching for new jobs and for a

temporary period they will be unemployed. / Uh YhR P RIS % foraw =



T3 NHINA] BT TATN I I3 8 IR Th 3RUTT 3rafyy & fRrg 3 RIS [
1. Frictional unemployment / ST SRISATR

2. Seasonal unemployment / RS SRR

3. Structural unemployment / IRTATH®D SRISATRY

4. Disguised unemployment / J=5d SRR

Correct Answer :-

* Frictional unemployment / ST RIS

38) is a process that involves the assembling, storage, transportation, packaging and
distribution of different agricultural commodities across the country. / Udh uferar % oraw

21 WX # fafirs oY gl & Taioe, YR, uRag, 3R 3R faawor wfte g €1
1. Agricultural marketing / w fagur

2. Rural development / PICIUREERE

3. Agricultural networking / @ﬁﬁea'%n

4. Rural marketing / grHtor fague

Correct Answer :-

o Agricultural marketing / ?ﬁf fauoe

39) Who is the present Chief Economic Advisor to the Ministry of Finance Government of India? /

YRA IXPR & a7 #1649 & T0= &I ST TaedR Hi- 32
1. Raghuram Rajan / XYRTH 1ol
2. Kaushik Basu / Waﬁ

3. Krishnamurthy Subramanian / Ww
4. Arvind Subramanian / 3Rfdg gHUgA

Correct Answer :-

 Krishnamurthy Subramanian / Ww

40) Who is the present Governor of Reserve Bank of India? / YR fRord % & g a7
D2

1. Urjit Patel / 3 Sid ued
2. Duvvuri Subbarao / @@ﬂ RESINE
3. Raghuram Rajan / XYRTH IS

4. Shaktikanta Das / Yfadeid o



Correct Answer :-

o Shaktikanta Das / Yfddid g

41) Who first adopted Micro teaching techniques? / J&H fRreor gl 3 TduyH foraa
SUAT™T?

1. Dwight. W. Allen / dT3¢ S&¢Y, TaiH
2. Dwight Waldo / dTSC alce!
3. Michael Brown / HISh d §[13

4. Stanley John / d! S

Correct Answer :-

« Dwight. W. Allen / SaT3¢ S&g, Ta

42) Who is nicknamed as the ‘Milkman of India’? / "HIRd & U Y’ BT 3UAH fa ﬁ'ﬂT"TCIT %?
1. Swaminathan / SITHIHTYA

2. Sambasivan / TR

3. Verghese Kurien / GHitc| W

4. Hiralal Chaudhari / §RTeTTel deR

Correct Answer :-

e Verghese Kurien / dT i W

43) The concept of five year plans in India was adopted from which country? / HRd o veadfa

o131 Bt YR fha 31 | Sru=TE g f
1. China / 9H

2. England / 37018

3. Soviet Union / Sifaqd ¥4

4. USA / Sad T AR

Correct Answer :-

e Soviet Union / aifaad 99

44) AMUL stands for . / TS (TTHYTH) BT qUf =7 gl
1. Anand Milk Undertaking Limited / 3¢ e 3i gXcfdh fafies

2. Ahmedabad Milk Union Limited / 38H&ISTG Hedh I ferfiics



3. Ahmedabad Milk Undertaking Limited / 3{gHaraTg e sfexcldh faffics
4. Anand Milk Union Limited / 31ic e gfAgd fofiics

Correct Answer :-

« Anand Milk Union Limited / 3{T¢ fies gfe faffids

45) is an apex Indian governmental body created in 1964 to address
governmental corruption. / U e RO IRPR AP g S TRPRT YPER &1
dT e & T 1964 H gm4T 14T

1. Commission Against Corruption / Y¥TdR & TdT® AT
2. Central Bureau of Investigation / h&1d 3+A¥01 &GR|

3. Anti-Corruption Bureau / Y¥THR faueht @

4. Central Vigilance Commission / AT Taddl ST

Correct Answer :-

« Central Vigilance Commission / AT Taddl ST

46) is the highest court for criminal cases in a district. / T& ford # STURT®
ArTE! & I W = ATy 2l

1. Court of the Sessions Judge / A TTEtRT BT Ty
2. Court of the District Judge / TSIl <UTITENRT &1 <ATATTA

N

3. Courts of Magistrates of First Class / YJH guft & AfoRee &1 AT

A~

o D

4. Courts of Magistrates of Second Class / Te<ita 9oft & AfoRde &1 e

A

Correct Answer :-

« Court of the Sessions Judge / g7 TR T e

47) Which of the following intrinsically motivates a learner to learn? / fafafea A o=
3T ¥ fore v fRrendf «1 gew wu d 9Ra Far g2

1. Lots of homework / 3{YdH W
2. Rewards / eI

3. Easy questions / d¢T I

4. Interest in the topic / fowg H <y

Correct Answer :-

. Interest in the topic / /a5 &



48) Whose birthday is celebrated as ‘International Day of Non-Violence’ by the United

Natio%ns(UN)? | E Y () ERT frHd T ot Siarigia sifgen feaw & w0 & weman
ST 32

1. Martin Luther King /H & qUR 2l

2. Mahatma Gandhi / AgTET Tieh

3. Jawaharlal Nehru / STaTgR dld A8%

4. Nelson Mandela / cd Hadl

Correct Answer :-

« Mahatma Gandhi / ASTHT TTieh

49) Annie Besant was a member of . /TR ade &t T il
1. Ghadar Party /TIETEI'IE‘T

2. Prarthana Samaj /QT%THT AN

3. Arya Samaj / 3 AT

4. Theosophical Society / FRENIThed qrTSc!

Correct Answer :-

« Theosophical Society / O Ihea Argel

50) Who plays the main role of Guidance Services in School? / faenea # ARfeRA Jars #t
T YT S T 82

1. Parent/ HTAT-fOdT

2. Social Studies Teacher / FTHTSTD T fR&H
3. Principal / PIEI]

4. Counselor / TRTHRIGTAT

Correct Answer :-

« Counselor / Wﬁ?ﬂm

51) CANCELLED

What is the SDG (Sustainable Development Goal) rank of India in 2018? / 2018 H YRd 91
TSl (Fad f[IBT @87) I$ FT @ 72

1. 130



2. 124
3.112

4. 148

Correct Answer :-

e 112

52) CANCELLED

Which of the following country is in the third stage of Demographic transition model? /

Frafafea ® & o9 a1 33 SAwifere! WHav Alsd & d 9| g2
1. Kenya / &1

2. Bangladesh / ST

3. Peru/ U

4, Canada / ®-ls

Correct Answer :-

e Canada / ®HlsT
53) CANCELLED

Who coined the term Action Research? / TdRT ot (%crm Qﬁﬂ') Aot CARCEING R
P12

1. Stephen M. Corey / I TH. BRI
2. Bruce Cooper / [ pUX

3. Talcott Parsons / m IR

4, Kets de Vries /m SR

Correct Answer :-
 Stephen M. Corey/ﬁcb_rf@. BRI
54) CANCELLED

The approach of organizing curriculum which is more content centered is known as: /

UTousd 1 AT B BT VD11, St fwixe: favy-avg Hisd 8, 39 GG
1. Concentric approach / Tobfad ?@W
2. Topical approach / JHS ef¥diu



3. Unit approach / ShIg SFDIUI
4. Spiral approach / gita BHECAL

Correct Answer :-

« Unit approach / W—sf EHECAL

55) “Roaring forties” are name given to wind in southern hemisphere commonly known as

which of the following wind. / «ded TTferd (T wifdT)” gfémoft mard & aam arch va= &t
foar war @ < fFufafed 7 9 59 a1 & 9m @ S Sl 872

1. Westerlies / U3 Ud-
2. Trade Wind / STUTRe Y& (¢S fdS)
3. Easterlies /Ujﬂq ga—q

4. Monsoon Wind / HIYd Ud-q

Correct Answer :-

o Westerlies / U3 Ud-

56) Sir Thomas Stamford Raffles is known to be a founder of which of the following modern

nations? / TR YTH RABIS Yoo &1 Fafafaa 3 9 few snyfe Iy o1 dwime
HIT ST 32

1. New Zealand / ﬂlﬁﬁa_s'

2. Cyprus / HIUY
3. Vatican City / dfem R

4. Singapore / ﬁr"ITER
Correct Answer :-

« Singapore / ﬁHTITER

57) Cyclones or hurricanes do not develop within about 50 N and S of the equator because? /

THATd a1 BT, YHH YT F TIHIT 50 N 3R s & v fawRya 7Y 8l € wife
1. Ocean surface temperature is high / JH% &I gdg hI dIUHT 3Hfwm Eﬁ?ﬂ%l
2. Trade winds converge / YIRS Ud Udh BhT Eﬁ?‘ﬁ %I

3. Pressure gradient is weak / qld UdUId] BHHOIR fﬁ?ﬁ%l

4. Coriolis force is very weak / BIRSITY YHTT Tgd HHIR BT 5 |

Correct Answer :-



« Coriolis force is very weak / PIRSAIT YHTT Igd HHSIR BIdT 5|

58) Which of the following rivers does not flow into the Arabian Sea? / FufafRada +4

7Y oRT IRR F T a5t @2
1. Tungabhadra / JTHGT

2. Narmada / THaI

3. Mandovi / HTUSdl

4. Sabarmati / HTSRH!

Correct Answer :-

« Tungabhadra / @”’T‘L@T

59) The Vallarpadam Terminal, which is a container trans-shipment facility, launched in
February 2011. It is a part of which among the following ports? / YA 2011 H R[UR™
e a1 IERUCH efifFa, S HeR UidiaRl (@i-Rude) gfawr 81 g8 Fufafea
e ° & frae ve fean 82

1. Cochin Port / HIHH SeTTTg

2. Visakhapatnam Port / [aRIRATUCH §ERT8

3. None of above / thE:IOPd oy Ob\l‘éc'_'r@

4, Chennai Port/aﬂg SN

Correct Answer :-

« Cochin Port / BT T8

60) Dendrochronology is the scientific method of dating based on the analysis of patterns of
tree-rings. In a tree from which of the following zones, the analyzing the circles would be

most easy? / F&-Ta (1 &) F U & fIzevUr & MUR R geHTarIHiHSB! ST H1
mmmélmﬁﬁmm%wqaﬁ,mmﬁ@wmm
STAT N2

1. Temperate Zones /Qﬂ?h'mT Hicay (zl-bl\(d \_ri\l"l)
2. Taiga / &

3. Tropical Rain Forests / Swresfeddia auf a4
4. Polar Tundra / g‘qﬂu cgl

Correct Answer :-

» Temperate Zones / i wiedy (%mi_d \_fﬁ:f)






